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WYKOP = 1.603 m2
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WYKOP = 1.809 m2
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WYKOP = 3.374 m2

POSZERZENIE_L = 0.309 m
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WYKOP = 1.964 m2

WYRÓWNANIE_BA = 0.341 m2
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POSZERZENIE_P = 0.052 m
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WYKOP = 1.719 m2

NASYP = 6.064 m2

WYKOP = 1.902 m2

WYRÓWNANIE_BA = 0.364 m2

POSZERZENIE_L = 0.442 m

POSZERZENIE_P = 0.069 m
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NASYP = 2.698 m2

WYKOP = 2.963 m2

WYRÓWNANIE_BA = 0.408 m2

POSZERZENIE_L = 0.405 m

POSZERZENIE_P = 0.115 m

RZĘDNE DROGI

ODSUNIĘCIA

RZĘDNE TERENU

ODSUNIĘCIA

SENSOR

1
4
.
5
2

1
4
6
.
6
7

140.000

0
.
0
0

1
.
0
8

2
.
5
7

3
.
5
9

4
.
0
9

4
.
9
8

5
.
0
5

5
.
4
9

5
.
9
4

6
.
1
4

6
.
3
6

7
.
1
9

0
.
3
3

1
.
5
4

2
.
9
1

3
.
9
0

4
.
9
7

5
.
5
3

6
.
2
3

7
.
2
7

9
.
5
8

1
0
.
8
0

1
1
.
7
5

1
4
7
.
0
9

1
4
7
.
0
8

1
4
7
.
0
6

1
4
7
.
1
4

1
4
7
.
1
6

1
4
7
.
1
6

1
4
7
.
0
7

1
4
7
.
0
7

1
4
6
.
9
4

1
4
7
.
0
5

1
4
6
.
9
7

1
4
6
.
9
9

1
4
7
.
1
0

1
4
7
.
0
7

1
4
7
.
0
2

1
4
7
.
0
2

1
4
7
.
0
1

1
4
6
.
7
3

1
4
6
.
4
6

1
4
6
.
5
0

1
4
6
.
9
0

1
4
6
.
8
5

1
4
7
.
0
2

0+300.00

P17

PA

S_

L1

3
.
0
0

1
4
7
.
1
4

PAS_P1

0
.
0
0

1
4
7
.
2
0

3
.
0
0

1
4
7
.
1
4

NASYP = 2.868 m2

WYKOP = 4.446 m2

WYRÓWNANIE_BA = 0.330 m2

POSZERZENIE_L = 0.427 m

POSZERZENIE_P = 0.085 m

RZĘDNE DROGI

ODSUNIĘCIA

RZĘDNE TERENU

ODSUNIĘCIA

SENSOR

1
4
.
4
7

1
4
6
.
7
1

141.000

0
.
0
0

1
.
5
3

2
.
6
2

4
.
0
7

4
.
9
5

5
.
1
1

5
.
6
9

6
.
2
7

7
.
6
3

8
.
0
6

9
.
5
9

0
.
2
4

1
.
8
6

2
.
8
8

3
.
7
8

4
.
9
2

4
.
9
4

5
.
3
7

6
.
0
3

7
.
1
0

8
.
6
1

9
.
9
2

1
0
.
6
3

1
1
.
7
3

1
4
7
.
2
3

1
4
7
.
2
2

1
4
7
.
2
0

1
4
7
.
0
7

1
4
7
.
0
7

1
4
7
.
2
0

1
4
6
.
8
8

1
4
6
.
6
3

1
4
6
.
8
1

1
4
7
.
0
4

1
4
7
.
0
8

1
4
7
.
2
4

1
4
7
.
1
7

1
4
7
.
1
8

1
4
7
.
1
5

1
4
7
.
1
5

1
4
7
.
1
8

1
4
6
.
9
6

1
4
6
.
6
2

1
4
6
.
7
3

1
4
6
.
8
0

1
4
7
.
0
3

1
4
7
.
0
0

1
4
7
.
1
9

0+350.00

P19

PA

S_

L1

3
.
0
0

1
4
7
.
2
9

PAS_P1

0
.
0
0

1
4
7
.
3
5

3
.
0
0

1
4
7
.
2
9

NASYP = 3.014 m2

WYKOP = 3.570 m2

WYRÓWNANIE_BA = 0.391 m2

POSZERZENIE_L = 0.377 m

POSZERZENIE_P = 0.117 m
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NASYP = 2.960 m2

WYKOP = 3.755 m2

WYRÓWNANIE_BA = 0.489 m2

POSZERZENIE_L = 0.249 m

POSZERZENIE_P = 0.138 m
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